
SET - 1 

Model Question    

Social Science   

Time ………………           Class - IX F.M.- 80   

lkekU; funsZ'k %    

General Instructions :   
lHkh iz'u vfuok;Z gS A    ¼1½ 

All questions are compulsory .    

¼2½ bl iz'u i= esa pkj bdkbZ & I, II, III vkSj IV  gSa A lHkh 

bdkbZ;ksa ds lHkh iz'uksa ds mÙkj nsuk vfuok;Z gS A    

 bdkbZ & I  ¼bfrgkl½   

 bdkbZ & II  ¼Hkwxksy½   

 bdkbZ & III ¼ukxfjd'kkL=½   

 bdkbZ & IV  ¼vFkZ'kkL=½   

 

This  question paper has four Units - I, II, III and IV . It is compulsory to  

answer all the questions of all the Units.   

 Unit - I (History)   

 Unit - II (Geography)   

 Unit - III (Civics)   

 Unit - IV (Economics)   

bl iz'u i= esa 40 iz'u gSa vkSj izR;sd iz'u nks vadksa dk 

gSA    

¼3½ 

This question paper consists of 40 question and every question  

corriez two marks.   

izR;sd iz'u ds pkj fodYi fn, x, gSa ftuesa dsoy ,d mÙkj 

lgh gS A mÙkj i=d esa mi;qDr xksys dks dkyk   djds lgh 

mÙkj dks bafxr dhft, A    

¼4½ 

Four options are given for each question out of which only one 

answer is correct. Choose the correct option and indicate it by 

blackening the appropriate circle in the answer sheet (OMR)   

        

        

        

        



bdkbZ & I ¼bfrgkl½ 

Unite - I (History) 

iz'u 1 Ýkl dh ØkfUr dc 'kq# gqbZ \ 2 

  ¼d½  14 tqykbZ 1789   

  ¼[k½ 14 tqykbZ 1779   

  ¼x½ 14 tqykbZ 1769   

  ¼?k½ 14 tqykbZ 1759   

  When did the French revolution started   

  (a) 14 July 1789   

  (a) 14 July 1779   

  (a) 14 July 1769   

  (a) 14 July 1759   

     

iz'u 2 Vkbn D;k gS \ 2 

  ¼d½ izR;{k dj    

  ¼[k½ vizR;{k dj    

  ¼x½ /kkfeZd dj    

  ¼?k½ d`f"k dj    

  What is Tithe ?  

  (a) Direct tax   

  (a) Inderect tax    

  (a) Religious tax    

  (a) Agriculture tax    

     

iz'u 3 lektoknh fopkj/kkjk ds izoÙkZd dkSu Fks \ 2 

  ¼d½ jkoVZ vksosu    

  ¼[k½ dkyZ ekDlZ    

  ¼x½ yqbZ CykWd     

  ¼?k½ ÝsMfjd ,atsYl    

  Who introduced the concept of socialism ?  

  (a) Robert oven    

  (b) Carl Marks    

  (c) Louis block    

  (d) Fedric Anjels    

     



iz'u 4 f}rh; fo'o ;q) dc ls dc rd gqvk \ 2 

  ¼d½ 1939 ls 1945   

  ¼[k½ 1918 ls 1939   

  ¼x½ 1914 ls 1918   

  ¼?k½ 1940 ls 1945   

  Who is the period of the second world war  ?  

  (a) 1939 to 1945   

  (b) 1918 to1939    

  (c)1914 to 1918   

  (d) 1940 to 1945   

     

iz'u 5 Lyhij dgk¡ yxrs gSa \ 2 

  ¼d½ jsy ds fMCcksa esa    

  ¼[k½ jsy ds batu esa    

  ¼x½ jsy dh iVjh ij    

  ¼?k½ buesa ls dksbZ ugha    

  Where do the sleeper look ?  

  (a) In train coaches    

  (b) In rail engine   

  (c)On rail track    

  (d) None of these    

     

iz'u 6 tEew d'ehj ds pjokgksa dks D;k dgk tkrk gS \ 2 

  ¼d½ xqtZj cdjoky    

  ¼[k½ xn~nh   

  ¼x½ etnwj   

  ¼?k½ eksfV;k   

  The nomads of Jammu & Kashmir are known as -   

  (a) Gurjar bakarwa    

  (b) Gaddi   

  (c ) Labour   

  (d) Motia    

     

     

     



iz'u 7 dSIVsu fLoax dkSu Fkk \ 2 

  ¼d½ fdlku   

  ¼[k½ Jfed   

  ¼x½ dkYifud uke    

  ¼?k½ buesa ls dksbZ ugha    

  Who was captain swing ?  

  (a) Farmer   

  (a) Labour   

  (a) Fictional name    

  (a) None of the obove   

     

iz'u 8 fdl ns'k us fØdsV dk vfo"dkj fd;k \ 2 

  ¼d½ teZuh   

  ¼[k½ Ýkal    

  ¼x½ bVyh    

  ¼?k½ baxysaM   

  Which one of the following contries invented the cricket ?  

  (a) Germany   

  (b) France   

  (c ) Italy   

  (d) England    

        

iz'u 9 yksxksa dh igpku fdlls gkssrh gS \ 2 

  ¼d½ Hkk"kk ls    

  ¼[k½ laLd`fr ls    

  ¼x½ iks"kkd ls    

  ¼?k½ buesa ls dksbZ ugha    

  What is the identity of people ?  

  (a) By language    

  (b) By culture    

  (c ) From co    

  (d) None of the above   

     

     

     



iz'u 10 fgVyj dkSu Fkk \ 2 

  ¼d½ bVyh dk rkuk'kkg 'kkld     

  ¼[k½ tkiku dk rkuk'kkg 'kkld    

  ¼x½ teZuh dk rkuk'kkg 'kkld    

  ¼?k½ fczVsu dk rkuk'kkg 'kkld    

  Who was Hitler -   

  (a) Dictator of Italy    

  (b) Dictator of Japan    

  (c )Dictator of Germany    

  (d) Dictator of Britain    

        

 

bdkbZ & II  ¼Hkwwxksy½ 

Unit – II (GEOGRAPHY)  

 

Á’u 11 fuEufyf[kr esa ls fdl jkT; ls ddZ js[kk ugha xqtjrh gS\   2 

  d½ jktLFkku  [k½  mM+hlk 

  x½ NÙkhlx<+  ?k½  f=iqjk 

The Trepic of Cancer does not pass through which of the following 

states?  

  a) Rajasthan  b) Odisha 

  c) Chhattisgarh  d)  Tripura 

Á’u 12 ,d LFkyh; Hkkx tks rhu vksj ls leqnz ls f?kjk gks&      2 

  d½ rV   [k½  Ák;}hi 

  x½ }hi   ?k½  buesa ls dkbZ ugha  

A landmass bounded by sea on three sides in referred to as- 

  a) Coast  b) Peninsula 

  c) Island  d)  Non of the above 

 

 

 



 

Á’u 13 fuEufyf[kr esa ls dkSu&lk o{̀k dh 'kk[kkvksa ds leku viokn 

Áfr:i Á.kkyh dks n’kkZrk gS\               2 

  d½ vjh;   [k½  dsUnzkfHkeq[k 

  x½ nzqekÑfrd  ?k½  tkyhuqek  

Which one of the following describes the drainage patterns resembling 

the branches of a tree? 

  a) Raolial  b) Centrifugal 

  c) Dendritie  d)  Trellis 

 

Á’u 14 uhps fn;s x;s LFkkuksa esa fdl LFkku ij fo’o esa lcls vf/kd o"kkZ 

gksrh gS\                         2 

  d½ flypj  [k½  psjkiw¡th 

  x½ ekflujke  ?k½  xqokgkVh  

Which one of the following places receives the highest rainfall in the 

world? 

  a) Silchar  b) Cherrapunji 

  c) Mawsynram  d)  Guwahati 

 

Á’u 15 jcj dk laca/k fdl Ádkj ouLifr ls gS\               2 

  d½ VqaMk   [k½  fgeky; 

  x½ eSaxzkso   ?k½  m".k dfVca/kh; o"kkZ ou 

Which one of the following types of vegetation does rubber belong to? 

  a) Tundra  b) Himalayan 

  c) Tidal  d)  Tropical Evergreen 

 

 

 



 

Á’u 16 fuEufyf[kr esa ls fdl {ks= esa Áokl] vkcknh dh la[;k] forj.k 

,oa lajpuk esa ifjorZu ykrk gS\               2 

  d½ ÁLFkku djus okys {ks= esa   [k½ vkxeu okys {ks= esa  

  x½ ÁLFkku ,oa vkxeu nksuksa {ks= esa ?k½  buesa ls dksbZ ugha   

Migration change the number, distribution and composition of the 

population in 

  a) The area of departure     

  b) The area of arrival  

  c) Both the areas of departure and arrival   

  d)  None of above 

 

Á’u 17 Hkkjr dk lcls iwohZ ns’kkUrj dkSu&lk gS\             2 

  d½ 97025*iw0  [k½  7706*iw0 

  x½ 6807*iw0  ?k½  82032*iw0 

The easternmost longitude of India is - 

  a) 97025*E  b) 7706* E 

  c) 6807* E  d)  82032* E 

 

Á’u 18 Hkkjr ds iwohZ Hkkx esa E;kaekj dh lhek dk fu/kkZj.k djus okys 

ioZrksa dk la;qDr uke &                      2 

  d½ fgekpy  [k½  iwokZapy 

  x½ mÙkj[k.M  ?k½  buesa ls dksbZ ugha 

Mountain ranges in the eastern part of India forming its boundary with 

Myanmar are collectively called- 

  a) Himachal  b) Purvachal 

  c) Uttarakhand  d)  None of above 



 

Á’u 19 owyj >hy fuEufyf[kr esa ls fdl jkT; esa fLFkr gS\       2 

  d½ jktLFkku  [k½  iatkc 

  x½ mÙkj Áns’k  ?k½  tEew d’ehj 

I which of the following states is the Wular lake located? 

  a) Rajasthan  b) Punjab 

  c) Uttar Pradesh d)  Jammu and Kashmir 

 

Á’u 20 xzh"e _rq esa mÙkjh eSnkuksa esa cgus okyh iou dks fuEufyf[kr esa 

ls D;k dgk tkrk gS\                      2 

  d½ dky oS’kk[kh [k½  O;kikfjd iousa 

  x½ yw   ?k½  buesa ls dksbZ ugha  

The wind blowing in the northern plains in Summers is Know as: 

  a) Kaal Baisakhi b) Trade Winds 

  c) Loo  d)  Non of above 

 

bdkbZ & III ¼ukxfjd’kkL=½ 

Unit - III  ¼CIVICS ½ 
 

Á’u 21 buesa dkSu ns’k lcls igys vius O;Ld ukxfjdksa dks ernku dk 

vf/kdkj fn;kA        

  d½ :l   [k½  U;wthySaM 

  x½ fczVsu   ?k½  vesfjdk 

Which of the following countries gave the polling right for the first to 

his citizens? 

  a) Russia  b) Newzeland 

  c) Britain  d)  United State 

 

 



 

Á’u 22 fdl ns’k ls vkx lku lwph dk laca/k Fkk &        

  d½ E;kaekj  [k½  /kkuk 

  x½ iksySaM   ?k½  U;wthySaM 

To which country did Aung San Sunky belong 

  a) Myanmar  b) Ghana 

  c) Poland  d)  Newzeland 

 

Á’u 23 yksdra= ds lanHkZ esa dkSu dFku lR; ugha gSA        

  d½ yksdra= 'kklu dks vf/kd tckcnsg cukrk gS & 

  [k½  yksdra= csgrj fu.kZ; ysus dh laHkkouk c<+krk gS & 

  x½ yksdra= ukxfjdksa dk lEeku c<+krk gS & 

  ?k½  yksdra= erHksnksa vkSj Vdjkoksa dks c<+krk gS & 

Which statement is in correct in refernce to democracy. 

  a) Democracy makes administration more responsible   

  b) Democracy increases the probability of better decision making 

  c) Democracy enhances the respect of citizens    

d)  Democracy increases differences of opinions and conflicts. 

Á’u 24 lafo/kku dk og dFku ftlesa dksbZ ns’k vius lafo/kku ds cqfu;knh 

ewY;ksa vkSj vo/kkj.kkvksa dks Li"V <+x ls dgrk gS] dgykrk gS &     

  d½ vuqPNsn   [k½  ÁLrkouk 

  x½ Ák:i    ?k½  n’kZu 

The statement of constitution in which a country states clearly the 

traditional values and concepts of its constitution is called as 

  a) Paragraph  b) Introduction 

  c) model   d)  Philosophy 



Á’u 25 Hkkjr dk lafo/kku dc cuk &    

  d½ 26 tuojh 1949   

[k½  26 tuojh 1950    

x½ 26 uoEcj 1949   

?k½  26 uoEcj 1950 

When was constitution of India framed. 

  a) 26 January 1949    

  b) 26 January 1950 

  c) 26 November 1949   

  d)  26 November1949 

 

Á’u 26 yksdlHkk esa vuqlwfpr tutkfr;ksa ds fy, fdrus lhVsa vkjf{kr gSaA    

  d½ 79  [k½  25 

  x½ 41  ?k½  40 

How many seats are reserved for scheduled tribes in parliament ? 

  a) 79 b) 25 

  c) 41  d)  40 

 

Á’u 27 Hkkjrh; laln ds vax ugha gS &   

  d½ jk"Vªifr    [k½  jkT;lHkk    

x½ yksdlHkk    ?k½  loksZPp U;k;ky; 

Which is not the part of Indian Parliament. 

  a) President    b) Rajya Sabha  

  c) Lok Sabha    d)  Supreme Court 

 



Á’u 28 Hkkjrh; ukxfjdksa ds vf/kdkj o Lora=rk dk j{kd dkSu gS &   

  d½ dk;Zikfydk    [k½  fo/kkuikfydk   

x½ U;k;ikfydk    ?k½  la;qDr jk"V la?k 

Which one is the protector of rights and freedom of Indian Citizens? 

  a) Executive    b) Legislature  

  c) Judiciary    d)  UNO 

Á’u 29 jk"Vªh; ekuof/kdkj dk dk;Z ugha gS &   

  d½ lEeu tkjh djuk   

[k½  fdlh ljdkjh nLrkost dh tk¡p djuk    

x½ vkjksih dks ltk nsuk   

?k½  ?kVuk LFky ij viuh tk¡p Vhe Hkstuk 

Which one is not the function of National Human Rights. 

  a) Issuing summons   

  b) Checking government documents  

  c) punishing the accused  

  d)  sending inspection team to the place of incidence 

Á’u 30 lafo/kku }kjk fdl cqjkbZ dks xSj dkuwuh ?kksf"kr ugha fd;k x;k 

gSA   

  d½ voS/k O;kikj   [k½  csxkj   

x½ cky etnwjh    ?k½  varj tkrh; fookg 

Which evil cannot be declared illegal by constitution? 

  a) Illegal Trade    b) Begar  

  c) Child Labour   d)  Inter caste Marriage. 

 

 

 



bdkbZ & IV ¼vFkZ’kkL=½ 

Unit – IV (Economics) 
 

Á’u 31 ikyeiqj dk eq[; flapkbZ dk L=ksr &        

  d½ dq¡vk   [k½  rkykc 

  x½ ugj   ?k½  uydwi 

The main sources of irrigation of palampur- 

  a) Well  b) Pond 

  c) Canal  d)  Tubewell 

Á’u 32 gfjr Økafr D;k gS\        

  d½ Ñf"k esa fodkl [k½  nw/k dh o`f) 

  x½ m|ksx esa fodkl ?k½  buesa ls lHkh 

What is Green Revolution? 

  a) Development in Agriculture 

  b) Milk of growth 

  c) Growth Industry 

  d)  All the above 

Á’u 33 ikyeiqj esa [ksrh ij fdrus Áfr’kr yksx vkfJr gS\      

  d½ 26 Áfr’kr   

[k½  40 Áfr’kr 

  x½ 75 Áfr’kr   

?k½  90 Áfr’kr 

What percentage of people dependent on farming in palampur 

  a) 26 % 

  b) 40% 

  c) 75% 

  d)  90% 

 

 



Á’u 34 thfodk pykus ds fy, fdrus Ádkj ds dk;Z fd;s tkrs gS\     

  d½ 2  [k½  6 

  x½ 11  ?k½  20 

Types of works to be done for running Living 

  a) 2 b) 6 

  c) 11 d)  20 

Á’u 35 ,d ns’k dk Je’kfDr D;k gS\     

  d½ 15 ls 80 o"kZ rd   

[k½  15 ls 75 o"kZ rd  

  x½ 15 ls 59 o"kZ rd    

?k½  15 ls 40 o"kZ rd  

What is the country’s labour force? 

  a) 15 to 80 years 

  b) 15 to 75 years 

  c) 15 to 59 years 

  d)  15 to 40 years 

Á’u 36 ,e-th-,u-vkj-bZ-th-,- ¼MGNREGA½ dk iw.kZ :i D;k gS\ 

  d½ Á/kkuea=h jkstxkj ;kstuk   

[k½  xzkeh.k jkstxkj l`tu dk;ZØe 

  x½ Lo.kZ t;arh xzke Lojkstxkj ;kstuk    

?k½  egkRek xk¡/kh jk"Vªh; xzkeh.k jkstxkj xkjUVh vf/kfu;e 2005 

What is the full form of MANREGA? 

  a) Prime Minister Rozgar Yozana (PMRY) 

  b) Rural Employment Generation Programme (REGP)  

  c) Swarnajayanti Gram Swarozgar Yojana (SGSY) 

  d)  Mahatma Gandhi National Rural Emplogment Guarantee Act 

 

 



Á’u 37 Hkkjr ds fdl jkT; dh U;wure ÁfrO;fDr vk; gS\     

  d½ xksok   

[k½  mÙkj Áns’k  

  x½ fcgkj   

?k½  >kj[k.M 

Which State for India has the Lowest per capita income 

  a) Goa 

  b) Uttar Pradesh 

  c) Bihar 

  d)  Jharkhand 

Á’u 38 ,u-bZ-MCY;w-ih- dk iw.kZ :i D;k gS\     

  d½ vR;ksn; vUu ;kstuk   

[k½  vUUiw.kkZ ;kstuk  

  x½ nksigj ds Hkkstu dh O;oLFkk  

?k½  jk"Vªh; dk;Z ds cnys Hkkstu ;kstuk 

What is the full form of NEWP 

  a) Antyodaya Anna Yozana (AAY) 

  b) Anna Purna Scheme (APS) 

  c) Mid day meal (MDM)  

  d)  National food for work programme 

Á’u 39 [kk| lqj{kk ls vki D;k le>rs gS\     

  d½ [kk|kUu miyC/krk   

[k½  vkokl miyC/krk 

  x½ diM+k miyC/krk 

?k½  buesa ls lHkh 

What you understand by food security? 

  a) Food Availability 

  b) Accommodation Availability 

  c) Fabric Availability 

  d)  All the above 



Á’u 40 jk’ku dkMZ fdrus Ádkj ds gksrs gS\     

  d½ 6   

[k½  4  

  x½ 9 

?k½  3 

How many types of Ration card are? - 

  a) 6 

  b) 4 

  c) 9  

  d)  3 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


